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Alexandriumspp.: 60
D. fortii: 0
D. acuminata: 140
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Alexandriumspp.:130
D. fortii: 0
D. acuminata: 40

Alexandriumspp.: 210
D. fortii: 90
D. acuminata: 80

Alexandriumspp.:3,930
D. fortii: 160
D. acuminata: 260
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Alexandriumspp.: 0
D. fortii: 380
D. acuminata: 160
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Alexandriumspp.: 170
D. fortii: 0
D. acuminata: 10
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*: SEI(GA2A) DREHE

BEITS5UHM HIFE (cells/L)
AEHh = 7K KR B Alexandrium s Dinophysis e
(°C) op. D. fortii D. acuminata F DD Dinophysis
. Om 17.95 16.26
OHHET 5 1299 32.60 60 0 140 -
Om 16.58 25.36
Q@fAH 5m 12.00 3351 130 0 40 -
10m 11.45 33.62
. Om 14.85 31.44 ~
Q=R B 177 3345 210 90 80
Om 13.14 33.12
@A FE 5m 11.69 33.44 3,930 160 260 -
10m 11.21 33.60
Bk 10m - - 170 0 10 -
®XiR 10m - - 0 380 160 -

X Alexandrium spp.|3EWERE. D. fortikD. acuminatalE FTHIEEEDRETS I8 T,
KTV HBEHITKEO~10 m(DEQIXEDE) DIRFKRDT—H2TT,

KREIDREF6ATBIZEEFETT .




Alexandrium spp. (cells/L)

HEBR
DEET |QBABQZVIR|DEHIB|OEE |OKR |DEENOGLHE
1H6H 240 10 0 0 0 -
1A148 70 10 0 0 0 0
18228 0 30 0 10 - 0
1H278 0 0 0 0 - 0
2A3H 0 10 0 0 0 0
28108 50 10 0 0 0 0
28178 1,430 20 0 0 - 0
2H25H8 20 0 0 0 0 0
3A2H 6,340 40 0 0 0 0
3H9H 670 50 0 0 - -
3H16H 2,920 0 20 0 - 420
3H23H 3,810 30 70 10 10 0
38308] 2140 20 0 0 0 0
4878 280 130 160 50 0 0
4H15H]| 10,940 150 30 0 0 -
48218 6,030 300 20 50 - -
4H27H| 41,130 370 250 70 170 700
5H7H| 23,760| 1,310 790 950 - - 170 110
58128 9,230 510 1,900 230 - 50 - -
58148 190 920
5H18H 710 2,350 680 1,920 -| 66,240 5,870 1,020
5825H 60 130 210] 3,930 170 0 - -
HER D. fortii (cells/L)
O%Er |(QBAHEQZVIR|DEHIFGEE |OKXKR |OBENO®LH
1H6H 0 0 0 0 0 -
18148 0 0 0 0 0 0
18228 0 0 0 0 - 0
18278 0 0 0 0 - 0
2H3H 0 0 0 0 0 0
2H108 0 0 0 0 0 0
28178 0 0 0 0 - 0
2H25H 0 0 0 0 0 0
3A2H 0 0 0 0 0 0
3A9H 0 0 0 0 0 0
3816H 0 0 0 0 - 0
3H23H 0 0 0 0 0 0
3H30H 0 0 0 0 0 0
4H7H 0 0 0 0 0 0
48158 0 0 0 0 0 0
48218 0 0 0 0 - -
4827H 0 0 0 0 - 0
587H 0 0 0 0 - - 0 0
58128 0 0 0 10 - 120 - -
58148 0 0
5H18H 0 30 680 40 - 0 60 30
5H825H 0 0 90 160 0 380 - -
maE D. acuminata (cells/L)
OHE |QBABQZVIR|DEHIB|OEE |OKXKR |OBENOG®LH
1H6H 0 0 0 0 0 -
18148 50 0 0 0 0 0
18228 50 0 0 10 - 0
1H278 40 20 0 0 - 0
2A3H 550 0 0 0 0 0
2H10H 350 200 0 0 0 0
28178 250 0 0 - 0
2H25H 70 10 0 0 - 0
3A2H 700 0 0 0 - 0
3H9H 390 0 0 0 - -
3A16H 10 10 0 0 - 0
38238 440 0 0 0 0 0
3H30H 100 0 0 0 0 0
4878 20 0 0 0 0 0
4815H 970 10 0 0 0 -
4H21H 240 0 0 0 - -
4827H 100 40 80 260 10 160
5878 130 0 0 0 - - 0 0
58128 200 10 0 0 - 0 - -
58148 50 50
5H18H 1,030 60 20 40 - - 20 80
5825H 140 40 80 260 10 160 - -

70,000 Alexandrium spp. .
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